P £ 2 D XIS FREE D 8 D IR D

g
FUREIE

KFWFI—rav S B BEM
2011128 25H



Vo BEE2 D Euclid B Jordan 13K,
E|, E5 : Jordant}t ~~ V =RE, @ Vs @ RE, : Peirce 77 fi#

RE; Vai
Vai RE,
(-|-) 2V D trace NHE, ||| * traceNED SRS /LA, G- T ||E| = ||Eo = 1.

V DX Q 13

()= {ZU =11 B + 191 + 9F5 x>0, xy9 — %HxﬂHQ > 0}
(FEE © Jordan fREL & L T D determinant i det z = zy29 — Lz [|> TH 5.)

W =R(E, — E) @V & L, Bla(E —Ey)+v] =a?+ 10| £B< &
Q= {\NE|+ Ey) +w € R(Ey + E») + W ; N> — Blw] > 0}

(n + 2XJCD Lorentz #)



P Q ED GOQ)AZEHEE, e Q.

/6 Iy (ye — Yy |1P) duly) (v = viEr + yor + y2 ).
0

EH I Rey >in, Re(a+7)>0, Re(B+7)>0DEE, BTIIHIKEL T

) = O p g DO DB g oy

x(l)éJr x23+/ [’(ry) 23?1$2

7272 L, F(a,b,c;x) |* Gauss DFERIEIEK,

- Daal?\ (PN :
6—0@&?,F@+Wmm, )_.1— THLDT

2129

1 —(a+)
(2m)2" ! [Nk
I(z) = (v — zn)(a + 1 —
(5'7) (’Y gn) (a ”Y) 2 41y

= (2#)%” I(y —3n)T(a + ) .CU(QIAQ(LU)_(OH_,Y). (Ag(x) == det x).



I(z) = (2m)2" T(y — )l (e +7) 25 89(2) " IZB VT, a =5 — s, 7=5 EBTIE
() = (27)2" T(s1)T (52 — In)ajl 2 Ag(z)
22T, s=(s1,8) I L Ts* = (s9,81) B &, —s" = (—89,—51) TH>T
T TN (2) 7 = A* () = Ag(ah).
D BRI DFER (2) = (21)2" T(s1) (59 — dn)Ag(z)) 215 3.

a=00D L =Y FEE



AEBHO 77 #f ¢ Brute force

_ dy1 dyadya . |
du(y) = — 21+ln’C3?)%75%
(g2 — 3 llya )

0 o0
_ _ _ —1-1
I(x) =/ e WLyl dy1/ e "2W2y ) dyQ/ e\ 210 (yy — Ly [|2)7 2" dyar.
0 0 y1y2>3 o1 |2

I 51T yoy =2yipv EBL &,
[(33’) = 2%”/ e—x1y1yix+v—1 dy1/ e—x2y2y25+7—1 dyg/ e—\/2y1y2<x21|v>(1 . HUHZ)y—l—%n dv.
0 0 s

Z :‘f‘, u € ‘/21 CCﬂLT
J(u) = / e tulv)(1 — HUH2)7_1_%” dv.
l|lv]|<1

o J(ku) = J(u) (Vk € SO(Va1)) &, J(u)=J(|u|e,) (e1,...,e,lFVy O ONB).



R ueVy DEE

Ly e 1 Jul \™

m=

Ak D 5 (
vy = rsinf,_; - - - sin 03 sin 0y sin 01,
Vg = rsinf,_; - --sinf3sin by cos 0,

v3 = 7rsiné,,_q - - - sin 63 cos Oy,

v =1rsind,_1---sinf; cosb_q,

Up—1 = rsinb,_q cos,_s,

| Vn =T cCO8 0,1
7L, r>0, 056, <2m, 0260, <m(j=2,...,n—1).

. D(Ul,-.-,vn_l,vn)
Jacobian (& =
acoblan D(617._.79n_177“) T

—2

n—l(

SN Hn_l)n ...sln (92



1 2w
Hw) = T(lullen) = [ v ta= s har [ asy
0 0
X / sin @y dfs - - / (sin Qn_g)"_?’ d@n_g/ (sin Hn_l)”_2e_||“||mose"—1 db,,_1
0 0 0
n—3 T 1 . T
= 27 H/ (sin )" d / P 1 — By dr/ (sin )" 2elullreose gy
k=10 0 0
ZZT

e 7T/2
Jp = / (sin )" 2~ lullreose g, — 9 / (sin )"~ % cosh(||u||r cos @) dip
0 0

EBL L, cosh DXREHEIRFHAZRAL T

J = QiM/W/Q(COS @)2m<SiH g0>n—2 dg@
1 — (2m)! Jo
o 2m,.2m 1 -1
-S> Bnp t)
m=0 ( m)
e e )
o= @Eml T(m+3)



gf%ﬁ%ﬁc:%b)f, U = /2Y1Y2 T2 EBLL L

0 m, m 2\
J(+/2 — /2Dy — L Y1 Yo H51321H .
( Jig xm) Ty =) g::o m!T'(m + ) 2
£->7T
1 - 1 NN
I — 2 QnF — l
@)= emr — i Y s (1
X /OO €—x1y1y?+m+7—1 dyl /OO 6—x2y2y2ﬁ+m—|—7—1 dy2
0 0
:ﬂ (V_ln)iF(a+m+7)F(ﬁ+m+7) [ERN
T s m![(m +7) 2 129
1
(2m)2" . D(a+y)(B+7) ( 291 ||2
= — 5N Fla+~,064+,7; )
x(l)é—i-’yxg‘i"}/ (’Y 2 ) F(’y) Y, B+, 2 212



